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9.2

9.3

9.4

GTefierteh! HIvI Jewoiia FIurT 3fg ?
Which of the following organism shows autotrophic mode of nutrition?
1. gf%l:l'[[EugIena] 2. %ad [Fungi] 3. TRMf3131Y [Paramoecium]

Prokaryotic cells are found in --------------
1. 3TfHET [Amoeba] 2. %9 [Fungi] 3. gfeHT [Euglena]

HEBRIT T GTetieTden! DIV fIem e 3T ?

Which of the following statement is incorrect about cancer?
1. BfRNTT 8T SRR T 7T,

[Canceris non contageous disease]

2. bR BT 3Ta1R1eh I 3 2rehell.

[Cancer may be hereditory disease]

3. JATTTHTUTC eRA 1. TG, T, GAUT, HSIUTH0d Behviv &l 2Tehell.

4. 37fHET [Amoebal]

4. S{q1] [Bacteria]

[Cancer may cause due to over consumption of tobacco, alcohol, smoking, gutkha]

4. HERITHGS THROT IO TG e,

[Cancer causes unreasonable weight gain]

In case of -------—---- disease patientis affraid of water.

1. 3§17 [Rabies] 2. &IRNT[T.B]
3.3%] [Dengue] 4. HRHT [Corona]

(1)
(1)



9.5

9.6

9.7

9.8

9.9

9. 11

SeTT YY) A05d UNRE STATITe SCTel dTese dTetol ATy ST, dRoT 3. - 8t

Bottom surfaces of camel’s feet are broad so it become easy to walk in sand because --------
1. &5Thas dTget i GTd Y Bralt [When surface areaincreases, pressure decreas]

2. 85Tt HHY FTet & g1 4T &l [When surface area decreases, pressure decreas]
3. &9%hes dlea Bl §IF T [As the surface areaincreases, pressure increas]
4. 85Thes HH STt Pl g9 ared. [As the surface area decreases, pressure increases]

T T SIUTT ST TetTadh gt ST Ugad algel ?
In which of the following solution buoyant force will be applied more?

1. f4ugmr aTof} [drinking water] 2. g uToft [sea water]

3. 7RY f4ugmr urof} [hot drinking water] 4. eis ol aroft [cold drinking water]
Tefterdent drorct reft Afger g ?

Which of the following is vector quantity?

1.<9 [pressure] 2. fIeIavETg [electric current]

3.9¢T [force] 4. IFFHTT [mass]

U.PS. A& —————- feRe Ere aToRaTe ?

------------ cellisusedinU.P.S.

1. 218 3T I &I [Lead-Acid cell] 2. FidreT-dsfirem Te [Ni-Cd cell]

3. PRSI facyd & [Dry cell] 4. 9191 faeyd e [Simple electric cell]
foeed gcwed) - —————- YehR Jah TIRAT.

In a electric bell ---------------- magnetis used.

1.1 &b [permanent magnet] 2. TIeRId guieb [electro magnet]

3. U TR &b [horseshoe magnet] 4. Frenerafie™ [neodymium magnet]
3y %é?éaw%wﬁawm ——————— Sddl 3d

-------------- is the blood pressure in the blood vessels of our body.

1. 1 91dTeRONY QI [1 Atomsphere] 2.10°aTareRufiT g [103Atomsphere]
3. 10°aTdTaRui 19 [10° Atomsphere] 4.0.197d1aR0 ST [0.1 Atomsphere]
——————— BIRNIE G AT

Voltis an unit of ------------- quantity.

l.ﬁ@ YT [electric current] 2.<19 [pressure]

3. fovaiaR [potential difference] 4. 49T [force]

TSI TUAT L haard ——————— EER IR

------------ electrons are presentin L orbit of sodium atom.

1.2 2.8 3.1 4.7
T LTI Seldg I H¥UUT BIUT ?

Which of the following Electronic Configuration is of non metal?

1. (2,8,3) 2. (2,8,1)

3. (2,8,7) 4. (2,8,8)

AB IGTRTCTaT SN ——————~ It eArae

The AB blood group was discovered by -----------

1. ST. Tef dieve~R [Dr. Karl Landsteiner] 2. fSmrCaAr 31for Teeff [Decastelo and Sterley]

3. et feif43rd [Carl Linius] (94 &P [Hook]
\<=J




9. 16

9.20

9.21

9.22

9.23

9. 24

Tl I AU ST JeIGeTelT 3eT. s -8

-------------- is an atomic element with no neutrons.

1. RIS [Hydrogen] 2. gfer3m™ [Helium]

3. 31T [Oxygen] 4. J1dhT ATEY [None of these]
ST (Z=25) AT JeIGed T Selarg  HRdUT 31T ?

Identify the electronic configuration of manganese (Z=25)
1.2,8,10,5 2.2,8,13,2 3.2,8,8,7 4.2,8,15,0

Oxide of Aluminium, Al,O,is ----------- in nature.
1. 3FTEHT [Acidic] 2. JFATREHT [basic]
3. QIR [neutral] 4. I 94 91T [All of these]

22

11Na T

22N From the given symbol -
e

1. 11 Wi [11 protons] 2.113aac [11 electrons]
3.11=g¢M [11 neutrons] 4. 901 |d gIiyg [All of these]

How many electrons are there in O ----------
1.8 2.10 3.6 4.18

WlefleTtdhT PIUTT ISTENUT hfotel 3R,

Which of the following is an example of colloidal?

1.g9 [Milk] 2. gdT [Air]

3. fE R [Venegar] 4. HCI

& ATIHTICT &RUT g AT =T JATUTHAT BT ATET STAT LT U ?
Which metal does not get oxidised & reduced atroom temp?

1. @GS [Iron] 2. g™ [Aluminium]
3.9 [Copper] 4.g1f$3M [Rhodium]
ERYE IRUMHRT BRI arf —— - ———— -

---------------- gases causes Green house effect

1.Co,, So, 2.Co,, CF,

3.No,, So, 4.No,, O,
TetleTteh! pIuTCT HGHeh Hiod STATGHeh 3118 ?

Which of the following pollutantis an organic water pollutant?

1. 3R [arsenic] 2.%9 [fertilizer]

3.1 [lead] 4.9RT [mercury]

T g faiges ATTetet! ST fISTauaTRATS! S aToRTeT ?

What will you use to extinguish fires caused by oil & electricity?

1. @703 febart H1elt [Sand or Soil] 2. 910l [Water]
3. =9 9d [Stirr up Pump] 4. 9T 94 [All of these]
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¥.25  QF qUIC IR et ferma e drar Fguret 5 Ui daR gleiel ? 3. -8t

What angle should be made between two plane mirrors to get 5 image?
1.36" 2.40° 3.60° 4.90
T.26  Porcr el ST SfTeHETddh! fUerea Fgurard ?

Which of the following cell organelles are called “suicidal bags”?

1. STIBINDT [Lysosomes] 2. 1P [Golgi Complex]

3. 3TidgeasITerdT [Endoplasmic Reticulum] 4. AgepiorenT [Mitochondria]
T.27 Q! HATHE SEUT SR ?
Which of the following has valves?

1.%5T [Heart] 2.1 (9fRT) [Arteries]

3. gH=T [Veins] 4,997 19 3 [Option 1 & 3]
7.28 TR ATURIRET TeriqE GAR 120/80 At ——————— T aT=rreaT T vaeT .

Blood pressure of healthy person is about 120/80 mm to ------------ mm of merquery

1.140/90 2.139/89 3.130/80 4.140/80
T.29 MY R ——————— & 37T 3R,

------------- is an acid presentin our body.

1.HNO, 2.H,S0, 3.DNA 4.1 3 [All of these]
T.30  fRRf A oRRe o - - - - - - - 3R,

The body temperature of a healthy person is -------------

1.36.9°C 2.98.6°F 3.310.05K 4. 39 | [All of these]

T.31 AT aaTiel aRReIcel Wiefiardd ScuTed Ted oo ?
Which of the following is a producer of fresh water ecosystem?
1.3M ofe4d [Annelids] 2. EH 9N [Smallfishes]

3,913 AN [Large fishes] 4. 31T [Eichhornia]
9.32 9% IS |

The chemical name of silica is ----------

1. Rifetai [Silicon] 2. H=f313m [Magnesium]
3. RifetpiT SaTaaTge [Silicon dioxide] 4. T3 SRIRiiaTSS [Magnesium dioxide]

.33 I GIR HRUITATS! DI BT IO ?

Which glass is used for making spectacles?

1. Uep1ei b [Optical glass] 2. Rifetat & [Silica glass)
3. 301 P [Coloured glass] 4.@1@@'4'?[3%[ [Lead glass]
¥.34 femR, -——---—- AT SUART FTATGEAT TIT METIRATS! BT
Designers use ----------- to find different designs.
1. aRgeff [Periscope] 2. BfTSIFPIT [Kaleidoscope]
3.99f7 19 2 [Option 1 & 2] 4.9 [Spectacles]
U.35  FIGHICT 30 HehaKd 1500 IaT Y adl TR ATGepIcaTe Shu=H o grom=at eaiet
JRATRAT ————— 3.

If the tuning fork vibrates 1500 times per 30 seconds, then the frequency of the sound produced by the
vibrations of the tunning fork will be ----------
1.500Hz 2.50Hz 3.150Hz 4.450Hz
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9. 37

9. 38

9. 39

9. 40

9.41

9. 42

9.43

T, 44

9. 45

A GREPR HBUIRY Ufget! gl TR v ? 3. -8t

Who is the first women scientist to win the Nobel Prize?
1. 2l. HeY=T I1ge [Dr. Kalpana Chawala] 2.4 =T fdea™ [Sunita Williams]

3. 7 g3 [Marie Curie] 4. AN &Y [lyerin Curie]
PIUTT RASTEAT ARIGRETE ! HRATE Ugat! SUHCE SToART I AT Yo PRUATd 3fTet! ?

Under the guidence of which scientist India’s first atomic reactor was started at Apsara Turbhe.

1.9%. S, T8 [J. J. Thomas] 2.2, fagq ARMTE [Dr. Vikram Sarabhai]
3.1, TH .S &A™ [Dr.A.P.J. Kalam] 4. 8. 8t 917 [Dr. Homi Bhabhal]
———————— T AT AT of 51 FguIdTel

------------------ scientistis called missile man.

1. 81, 1.2 W [Dr. C.V. Raman] 2. 8. 81 917 [Dr. Homi Bhabhal]

3. 8. fIp" ARTTS [Dr. Vikram Sarabhai] 4.7, TH. S, B [Dr. A.P.J. Kalam]

o ). U g - —————— fasaeiier et aTRai e fiesret ?

Dr. C.V. Raman received the Nobel Prize in -===--=====----

1. B IRS [Physics] 2. AR [Chemistry]

3. GARA [Astronomy] 4. TG [Biology]

Gl d! JTaRTSIR DIoT 2

Which of the following astronauts?

1. 975 @3t [Madam Curie] 2. 81, fIpH IARMTS [Dr. Vikram Sarabhai]
3. 1. @ 91T [Dr. Homi Bhabha] 4. 3. Y1 I1aelT [Dr. Kalpana Chawalal
NRAM fIBRIT PBelel AU HIUTT ?

Which are the missile developed by India?

1.9t [Pruthvi] 2. 3T [Agni]

3.f395et [Trishul] 4. 301 99 [All of the above]

——————— AT AR DIChRARI PR JTAIID 3T,
................. resources must be used sparingly responsibly.

1. Sfemed & ISif [Fossile fuel energy] 2. AR 351 [Solar energy]

3.9d 391 [Wind energy] 4. I T8 [None of these]
TR Riefewmed (LP.G.) ———————- IR R IRTA

------------- gasisfilled in the domestic cylinder.

1.9 [Butane] 2.9 [Methane]

3. gRISIN [Hydrogen] 4.399 [Ethane]

fcga STf+=man eneg Ioft Fra.

Who invented the generator?

1. RId RS [Michael Faraday] 2.9, 9. &4 [J. J. Thomson]
3. 911G 9G¥t [Madam Curie] 4. 919 Uf$d [Thomas Edison]
STRTfCTeh St f - —————— RIST ATSRT AT

World water day is celebrated on ---------------

1.219/ [21 March] 2. 2297 [22 March]

3.5 [5June] 4.7 T [7 April]

—~
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ForQ.46 & 47 3. -8
fCeled Mt RIS B Jdiler Ug Tafaric 3ree fHaeT.

Observe carefully and find the next number in the given sequence.
.46  25,32,37,47, ------—---

1.57 2.58 3.59 4.60
.47  425,388,357,328,305, ------—---

1.285 2.287 3.286 4.281
ForQ.48 & 49

Jeicl ACIMIfoThd 7 SHUTR UG 37165l

Observe the given series carefully and find the number which does not belong to the series.
.48  315,343,371,405,427

1.405 2.315 3.371 4,427
749 25,49,81,121,289, 361

1.289 2.121 3.361 4.81
ForQ.50 & 51

GTeflet HET AfeTchdel $hH  Feaa e 3lewdd T agTea ST AUIRT T T 31gh Fas.

Observe the sequence in the given series and find the correct number that will replace the question

mark.
9.50 4,10,33,136,7
1.685 2.548 3.274 4.411
9. 51 72,58,18,10,7?
1.10 2.8 3.6 4.1
ForQ.52&53
GTelTel TR YepT fAfE ugereh A foTeleled a1ed. Al Hee AT HeARFErRAT SIFf JuRy

The numbers in the following questions are written according to a certain pattern identify the pattern to
find the missing character accordingly.

9. 52 4126 1.17 2.14
8l6]2
16]10[28 3.18 4.16
3 6 6 6
1.33 2.24 3.27 4.28
ForQ.54 & 55
wletlel TeAId UfdedT ugreT Gl Uil ey JTg qdrd Fee /=T ugrer <iedr ugielt g, Al e
3T T2 Ug QAT 37 fHael.

The relationship between the first and second word or number. The same relationship is between the
third and fourth word or number. Observe it carefully and choose the correct alternative from the given
options.

—_
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U. 54 GG : g0 == faofir: ? 3. -8dr
Bagdad :Iraq:: Beijing: ?
1. ¥ [China] 2. 519 [Japan] 3. [Turkey] 4. 73R [Malaysia]
.55 4321:5::9876:7
1.1 2.5 3.15 4.13
ForQ. 56 & 57
3Mciae Wlettel Yo Jeai ot
Are based on the figure given below.
.56 3Nl Ted AR e el 31 2
How many squares are there in the figure?
1.2 2.3 3.5 4.6
.57 3Mepciae Heptonl e el a1 ?
Countthe number of triangles in the figure?
1.14 2.16 3.18 4. I ATEY [None of these]

For Q.58 to 60

U.58

9. 59

9. 60

9. 61

9. 62

GTett feeiedT Mgt et afa femdmerd aRwd facaneff adem, T JuR fcameff e a qaeare
RO fIemeff T gRadel 3iTed o) Jeiel HeTdT Ieor ST,

In a following figure students from a circle who like Drawing, Music and Tabla are shown respectively
by triangle and a square Numbers written in different sections of diagram indicate the number of
students belonging to a particular. Observe the figure and answer the following questions.

<«— 9Tl
21 [Tabla]
IEEEI
NIRE] [Drawing]
[Music]
fopctt foramme T femranet amaed ATg! 2
How many students do not like Drawing?
1.37 2.57 3.61 4.52

fepell fergRImef=T femrehett STTfor Tl 3raed IR daell fasd el ?

How many students like Drawing and Music but do not like Tabla?

1.17 2.12 3.40 4.55
DIVIITE! QITE DHel AT I facameff fapet ?

How many students like only two arts?

1.33 2.30 3.27 4.45

2000 AT Afge T JHaRT 3Re aR ofIa PIure a8 Afeell o JHart IgeT ?

In the year 2000 ‘Women’s Day’ was on Wednesday then in which consequent year ‘Women'’s Day’ will
fallon Wednesday?

1.2007 2.2005 3.2006 4.2004

freTTet TepT fSpTuMmargT qdens 6 foh. Y. TTciearar Iordiehs ded I-al 4 fob HY. areter. Itdiers aasg 2 fon .
AR IR I9d1ehs g5 1 3. HY. TetetT. R STdips ac 8 o HY. Trerd TeT. dac! Scavebs aa5g 3
35 Y. ST eIiaetT. TR IoTeliens 45° Hed g5 5 5. 7Y, AT, TR A1 STRYATHTIRIT hiore f2%T 3Rt 2

From one place Vishal travels 6 km. towards East. Then he turns right and travels 4 km. Again he turns
right and walks 2 km. Again he turns right and walks 1 km. Then he turns left and walks 8 km. Now he

turns North and stops after walking 3 km. then he turns right making angle 45" and walks 5 km. Find the

(7))
\7}



direction fromorrgin? 3. - 8d
1.9d [East] 2. 9feaH [West] 3.3 [North] 4. 30T [South]

ForQ.63to65

9. 63
J. 64
9. 65

feReTedT UeTeT 3Feeh Ui hRUTRY 3Tl ST,

Choose the diagram which best illustrates the three given classes in each questions.

. ©O0 2. 3. 4.@ Q

Jd [Sun] , U8 [Planet] , g2t [Earth]
1 [Dog] , Uil [Animals] , dTedtd UT0fl [Pet]
IIATEROT [Atmosphere] , RIS [Hydrogen] , 3fifaTsi [Oxygen]

ForQ.66to 68

9. 66

9. 67

U. 68

9. 69

.70

.71

9. 72

In the following letter series some of the letters are missing. The missing letters are given in the
alternatives. Choose the correct alternatives?

ab-a-b-a-b-a

l.aba ab 2.bbb ab 3.aaa ab 4.bab ab
aa-abbb-ccccd-ddccc-bb

l.abcda 2.abdbc 3.abdcb 4.abcad
ba-b-aab-a-b

l.abba 2.baab 3.babb 4.abaa

TSI SRIAT e 200 HTS ATdeiet! M. T 7 IR A1 S feetett 3iTed. SR UfeedT et Monday

NIE I(\Qc*i(‘d el AR AT 40 T ATST 19 DT 3¢ ?

There are 200 trees on a garden side. Those are given the names of the 7 days squentially. If the name
of the first tree is Monday, what will be the name of 40" tree from the end?

1.3f39R [Sunday] 2. AHaR [Monday] 3.9dR [Tuesday]  4.99dR [Wednesday]
fQuepRTg ATfTehE quatet 75 febet TRy ST et & Yt A1ferepetm 50 fob. . oy i oRa et TR
ITAT QRUT TATRATCI el SRTAR o fapet 2

Deepakrao went to Pune from Nashik by 75 km per hour and returned to Nashik by 50 km per hour.
Whatis his average speed of the total journey?
1.62.5km/hr 2.65km/hr 3.90 km/hr 4.60 km/hr

TehT Aichicieh IS8T MANGO g 9Tec PDQJR 3191 foTfgdid d TREE &T 9Tc T foTgTal ?

In a symbolical languge MANGO is written as PDQJR. Then how the word TREE will be written in the
same language?
1.VUHH 2.WTGG 3. WUHH 4. WUGG

ThT SeITd BIg! dichoic delal 3Ted. Udd fAcunedfe 5 Aldoic dicedrg 4 faeaeafar alidhece B
gedTd. T15 Ul 4 didhelc dIeed 5 Tldbaic (3ot gard. dx facaneff g Tlaeic Jicam Gxdiel B
fopett ?

There are some chocklate in a pot. If 5 chocklate given to each studentin a class, 4 students don’t get
any chocklate. But if 4 chocklate given to each student. 5 chocklate remain. What is the difference
between the number of chocklate and the students?

1.130 2.105 3.85 4.80

(R
\8}



9.73

9. 74

9. 75

TehT Hichfcreh UTST ALGEBRAET 376 46 397 fotgdd.
TN T Aichfcid 9d GEOMETRY g7 916 T foTglet ?

In a certain code language ALGEBRA s written as 46
thenin the same code language GEOMETRY =?
1.104 2.105 3.106 4.108

Tehl Hichfcreh UTSd SANKET g7 9Tec 70 31T forgdrd.
TN T Aichfcid 9T PUSHPAET 3Tec T forgret ?

In a certain code language SANKET is written as 70
theninthe same code language PUSHPA="?

1.100 2.81 3.181 4.162

3. -84l

TTRE g1 I ARE Y& HIST 31Tg. U XeT Y&l g 3TTe. WiRa 81 99T 310fa TR 31Tg uvg, dl Horguer J1aT

31T, TR Tletiel Yehl DIV [T 37 AT ?

Gaurav is older than Saurav but younger than Suresh. Saurav is as old as Arnav but older than Pranav.

Then which of the statement is correct?
1. 3yufa g1 AR vl g TR, [Arnav is youngerthan Saurav]

2. 37fa g1 G U HIS 3MME. [Arnav is older than Suresh]
3. g g1 9o & HieT 3TR. [Arnav is older than Pranav]
4. 37ufq g1 1RT &I HIST 31Te. [Arnav is older than Gaurav]

(a1 meuforedt IR Gt (Answer Key) €/ i@ www.drevramanexam.in J9TEceR U 8l5eT)
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